= o
A & 0l & AF 2 E A A
20188 &= =0lat LBt H sE Y
2N s3I
HE: sAZMAYS
Sl s FI| (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
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= 11,148,433
J| 2,407,787
= 2,776,499
s 11,504,609
sZZAHS L3 27,806,026 24,399,748 3,406,278
= 11,148,433
J| 2,407,787
< 2,776,499
s 11,473,307
sgHFI = 2,049,696 1,550,813 498,883
= 505,686
J| 23,680
< 395,404
s 1,124,926
STYRFU 56,100 89,900 /33,800
201 et 13,500 13,500 0
01 At 2teltl 13,500 13,500 0
OA=gR =3 (Us &It 5)
10,000, 000& 10,000
Osg&EXNS oM 21l 2,000,000& 2,000
OsZAH 2 sEMY EE2 MEM WA
1,500, 000& 1,500
202 O4dl 10,800 10,800 0
1 2 WA 10,800 10,800 0
O=3gSe =& 10,800, 000& 10,800
e N 8,500 9,300 A 800
ANHBZ=ZHSZ= A 8,500 9,300 A 800
Os&d g2=4 g3l 8,500,000 8,500
AU A F 8,300 6,300 2,000
A HIE& S 8,300 6,300 2,000
O=g3=2s 23 W=E 250003 » 58 ~ 43 500
O&=sge ey n=s 500,000& * 24 1,000
Ots¢ - t0ls S84 ety u=s
60,000& * 80 4,800
Oy 2 THS SUUDS 24
2,000,000& 2,000
307 21201 A 15,000 15,000 0
02 B AAFEX 15,000 15,000 0
Osgoltx f3s X (M)
15,000, 000& 15,000
sgetHE =z KA 200,000 230,000 230,000
301 et a s 200,000 230,000 230,000
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02 ¥et=stit= 200,000 230,000 A 30,000
Osgelxtdstita A& 1,000,0008 * 200 200,000
SHER0XH 9,600 9,600 0
301 et A= 9,600 9,600 0
MIIEEES3 9,600 9,600 0
OsHe20XA 3,200,000& = 3H 9,600
ST UHAX R 33,000 36,000 A 3,000
307 21201 A 33,000 36,000 A 3,000
04 QIZFHALAIH B & 33,000 36,000 A 3,000
Osts d=203s &It 12,000, 000& 12,000
Ostsd JIIEN=UHS 16,000, 000& 16,000
Otts 55 SsS&=S ZEE0E A
= 5,000,000& 5,000
HE=sHAHARA 17,000 25,000 A8,000
307 glz2t0l & 17,000 25,000 A 8,000
04 QIZFHALAIH B = 17,000 25,000 A8,000
Oet=s &=zl &It 12,000, 000& 12,000
O8ti=s Relset=E X201 #A 2,000,000 2,000
OstH= &0t &AL 3,000,000& 3,000
SN SYTY F2HI 57,120 56,868 252
< 11,424
s 45,696
201 et 57,120 56,868 252
< 11,424
s 45,696
01 At 2teltl 57,120 56,868 252
O=gdgHd sg3dg F2M3 57,120,000& 57,120
= 11,424
s 45,696
sYQ B H I XA 107,100 107,100 0
< 35,700
s 71,400
301 gt L= 107,100 107,100 0
< 35,700
s 71,400
1MIIEBESS 107,100 107,100 0
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[ia 71,400
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101 @124 dl 21,880 21,880 0
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307 gl2tol & 10,000 0 10,000
02 It M AHE L 10,000 0 10,000
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dY sge 33 NIAY 51,360 0 51,360
= 35,400
< 4,374
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= 34,020
< 4,374
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[ia 39,900
JEdsiE AEsI |4 36,000 36,000 0
< 10,800
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= 10,800
e 25,200
11IIEIEA S 36,000 36,000 0
Oz gdsits essIit SdXd
36,000, 000& 36,000
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s 25,200
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J| 9,000
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201 Let24d] 2,000 2,000 0
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i 83,912
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[ia 884,736
307 glztol & 2,359,296 0 2,359,296
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[ia 884,736

«©




2H: =2

BH: sAMAYs
Colr DEAM MM U ABY SUSH (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 2,359,296 0 2,359,296
OSRIIZHZXNEAY 2,359,296,000& 2,359,296
= 1,474,560
[ia 884,736
=esHESLEs UM 988,290 1,017,990 A 29,700
< 296,487
[ia 691,803
402 RIZ2HXt20l ™ 988,290 1,017,990 229,700
< 296,487
e 691,803
02 RIZEXt 2 AL EZ (01X TS ) 988,290 1,017,990 229,700
O=zsg 28X X& 988,290,000 988,290
< 296,487
s 691,803
dsJlHs EH 2= 103,070 84,000 19,070
< 30,920
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s 183,638
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307 21201 A 14,000 11,800 2,200
02 HAFAAHEX 5,000 5,000 0
OfNs 33 AAS 40,0003 = 1259 5,000
04 DIZHHALALSE E X 9,000 6,800 2,200
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402 Q12+t X2 0| & 14,400 14,400 0
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Ol &3sXd XA 342,872,000 342,872
=) 102,862
fia 240,010
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< 11,618
= 34,853
402 BI2FX=0l M 46,471 31,500 14,971
< 11,618
= 34,853
02 U2 TEALEZ(0IETHE) 46,471 31,500 14,971
Oz eZd2Y0oIE XA 46,471,000 46,471
= 11,618
[ia 34,853
7= E =HE /st sl 12,000 12,000 0
=) 3,600
a 8,400
301 et a = 12,000 12,000 0
=) 3,600
A 8,400
MIIEELE=3 12,000 12,000 0
ORJls 215 EUE A% UuEXE
12,000,000& 12,000
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a 8,400
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s 22,996
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= 21,901
< 9,857
s 22,996
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s 70,000
307 21201 A 100,000 100,000 0
= 30,000
[ 70,000
02 YAFAAHEX 100,000 100,000 0
Os&d HMEBIAHEH 29 X2
100,000, 000& 100,000
< 30,000
[ia 70,000
sIHEEEE N&A 36,000 36,000 0
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e 24,000
301 et a s 36,000 36,000 0
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IARPA S =S = 36,000 36,000 0
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s 24,000
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< 28,135
s 65,648
02 QIZEHEAIL B (01X S) 93,783 186,667 N 92,884
ORIlsttES M ARIA 93,783,000& 93,783
< 28,135
[ia 65,648
Flls - =2 M=ot 32 &HI 79,000 79,000 0
< 23,700
[ia 55,300
301 L2 A F 79,000 79,000 0
< 23,700
[ia 55,300
11IIEtEA S 79,000 79,000 0
ORIls - 2= M=ot SZEXMH|
79,000,000& 79,000
= 23,700
s 55,300
NSEH MATHHY JSBXM 2 69,580 69,580 0
< 20,874
s 48,706
402 RI2EXt20l ™ 69,580 69,580 0
< 20,874
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i 11,200
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= 4,800
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